Name: Primary 5-a-day Bronze
30th April
500 + 2,000 21+ 3

Draw a pentagon

A biscuit costs 46p

Find the cost of 4 biscuits

Arrange these temperatures in order, from
lowest to highest

25°C 33°C 19°C 13°C
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Name:

Primary 5-a-day Silver

30th April

= 5,400 + 800

8 X 64

Round 3,541 to the nearest 100

Round 3,541 to the nearest 1,000

120

I:I play a musical instrument

A l:‘ do not play a musical instrument

100

Number of 80

children 60

40
20
0

Year 4 Year 6

How many children are there in total in
Year 67

There are the same number of children in
Year 4 and Year 5. In Year 5, half the
children play a musical instrument.

How many children in Year 5 play a
musical instrument?
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Name: Primary 5-a-day Gold ,j
30th April )

7
— of 1,960 406 X 17
20
Here are some nets Which letter is the net of a cuboid?
A
B

Which letter is the net of a triangular
C prism?

Work out the mean amount of money A
raised £60

£50

Money £40
raised £30
£20

£10

£0

Sam George Harry
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Name: Primary 5-a-day Bronze

1st May

1

EOBO 80 + 80 + 80 + 80
There are 6 stamps in a book. 7 w
Anthony has 30 stamps.

How many books of stamps does he
have?

Write am or pm in each box
James has his dinner at half past five
James goes to school each morning at

half past eight 5 O O
8:30

A car park charges 60p to park a car for
30 minutes.

[30 minutes = 60p ‘

Chloe parks in the car park for 2 hours.

How much does she pay?
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Name: Primary 5-a-day Silver
1st May
7 %X 12 1,841 — 227

Steven places some oranges on a
weighing scale.

He takes away one orange.
The mass goes down by 130 grams.

Draw the pointer in its new position

- >

1icm

Write down the area of the square
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Name: Primary 5-a-day Gold £ 3

1st May J

21
Simplify 23

3014290

Which is larger?

78% or 0.8
A The square A is translated 2 right and
) 1 down
3 Draw the square in its new position
2
1A
6 5 4 3 2 -10 1 2 3 4 5 6x

Plot the point (—4, 1)

© Corbettmaths 2017 www.corbettmaths.com



